.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

14" September Evening Session

Q1. In the Battle of Plassey, the British East India Company defeated

A. Chanda Sahib
C. Nawab of Arcot

Q1. ward & a3t$ A, e §¥e R Fuh
A. dic g
C. 3RHIE &I AdTT

Q2. NEET stands for
A. National Evaluation cum Eligibility Test

C. National Eligibility cum Entrance Test

Q2. wA.£.5.8. &1 qu A gl
A. ATl 33U A Tlatafaferdr eee
C. seeTd tfafafafad: wa iga e

Q3. Jim Corbett National Park is in
A. Bihar
C. Uttar Pradesh

Q3. o F Fide Aerarer ok #B
A. fegrR

C. 3 Ue=r

Q4. The present Chief Minister of Goa is
A. Manohar Parrikar

C. Vishwajit Pratapsingh Rana

Q4. T & FEHT AT B
A. AT afiax

C. faeafard gdrmafdg o
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B.
D.

Mir Jafar

Nawab of Bengal

FY &I

. HT ST

. §3TTel T oTaTd

B. National Eligibility cum Entrance Trials

. National Entrance cum Evaluation Test

. 7eeTel TfafafafedT & v e
. SARASTeT UEH A TAoYUAT SFC

B. Uttarakhand

. Rajasthan

. TSTEATT

B. Vijay Sardesai

. Francis D'Souza

. faor wRemrs
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

14" September Evening Session

Q5. The was fought between Nadir Shah and Muhammed Shah.
A. Battle of Karnal B. Third Battle of Panipat
C. Battle of Tarain D. Battle of Hisar

Q5. AR g 31 AgrAg aE F & w@ =i o

A. FEATSH FT T3S B. Treigd & e I8

C. TS & AT D. fRAR & of31$

Q6. Which amongst the following is an oldest Harappan valley site?

A. Rakhigarhi B. Bhirrana
C. Banawali D. Kunal
Q6. 3H { FIT W1 TI, FIW AT §TUT GIEY TIA 82

A. TERTE B. foRmer
C. Sefarelr D. Fotel

Q7. In which architectural pattern, the temple of Sheela Mata of Haryana has been

designed?

A. Rajasthani B. Haryanvi

C. Gol Gumbaj D. Planetorium
Q7. gRTom Fr ofrer AT F HIZT FT fAxAor frw aveq wafa & frar = ¥
A. TSTEATeT B. gRamordT

C. INeT IFest D. dRMHS

Q8. Who amongst the following is the youngest Sarpanch of Haryana?

A. Geeta Rani B. Sita Devi
C. Nirmala Rani D. Rekha Rani
Q8. gAY F 9@ FH 37 Y WUT FiT §?

A. 3T Tl B. ¥rar &dr

C. fader =i D. 3@ T=i
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

14" September Evening Session

Q9. Haryana government announced which scheme for senior citizens in March 201772

A. Tirtha Darshan B. Mela Darshan

C. Char Dham D. Darshan Labh

Q9. AT TFR A AT 2017 & IR™S AFIRST & fov Fa Frsrar i gyon H?
A. e et B. #elm 2ieT

C. IR 1A D. geiel st

Q10. Haryana government has banned carrying at marriage.
A. dowry B. arms

C. jewellery D. gifts

Q10. RO TFR o ey F o STt WX gfaeer oo & §

A. ggal B. g2}

C. 3meqsor D. 3R

Q11. 215t National youth festival will be held in which district of Haryana?

A. Ambala B. Faridabad

C. Gurgaon D. Rohtak

Q11. 2187 TSI Ja1 FARIE gRAON & v forer & amafarar fwam smeem?

A. 3T B. wiigrere

C. Igana D. Jgd®

Q12. Bheem Award is given by of Haryana.

A. Ministry of Finance B. Ministry of Agriculture
C. Ministry of Education D. Ministry of Youth Affairs and Sports
Q12. sffer R, gRamon & ganT fm e 1

A. [aca AT B. Y &I

C. Tram FaTeT D. gaT A 3R Tl HATelg
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14" September Evening Session

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Q13. Who amongst the following political leaders from Haryana, served as the Deputy

Prime Minister of India?
A. Bhupinder Singh Huda B. Bhajan Lal
C. Chaudhary Devi Lal D. Om Prakash Chautala

Q13. AT FT FieT AT TSTANAF AdT AR T 39 TereT HaAY 41?2
A.H(ﬁﬁ?ﬁ%’g?gﬁ B. 97571 Tl
C. iRy &t arer D. 311 Yehrer dlerar

Q14. Several words in Haryanvi language have similarity to words in

A. Spanish B. French
C. German D. Finnish
Q14. gRToTd sTTeT & FE erec HTYT & ereal & AT &
A. Eaferer B. e

C. S D. ftpferer

Q15. “Abhigyan Shakuntalam” talks about which pilgrimage?
A. Kamal Nath tirth B. Dhundu tirth
C. Yogi tirth D. Kuber tirth

Q15. "HfAAe e & R ot I & AR # var Teran §2
A. HAES TG Y B. g3

C. awfr vy D. R Y

Q16. Which award is related to literature?

od)

A. Maharishi Ved Vyas award . Kanhaiya Lal award

O

C. Bheem award

Q16. FlT W1 EFR, WifeeT ¥ wafa g2

. Dronacharya award

od)

A. 7Bl 3¢ =aTe qRER . Fegdl ATl JTERR

. GIOTER GUEhR

O

C. s &R
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14" September Evening Session

Q17. ‘Ashtadhyayi’ was penned by

A. Chauranginath
C. Babu Balmukund

B. Panini

D. Pt. Laxmichand

Q17. 'sseyrfl & o A
A. TifEre B. iforet
C. S FTAHFG D. dfsa s

Q18. How many wildlife sanctuaries are there in Haryana?

A. Five
C. Eight

B. Nine

D. Seven

Q18. R # fFaa a=usiig ARy §?

A. 9T

c. 96

B. &t

D. ard

Q19. Which district in Haryana has the maximum number of assembly constituencies?

A. Faridabad
C. Sirsa

B. Hisar
D. Sonipat

Q19. gRIon ¥ fFw e & g 37fF Reuawam ar agehie &2

A. BlcETg
C. @

Q20. Haryana has
A. 10
C.8

Q20. g &

A. 10
C.8

September 14, 2017

B. iRO™
D. Higd

Lok Sabha constituencies.
B. 9
D.5

AFaHT araeT a7 E
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14" September Evening Session

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Q21. In which of the following districts of Haryana is Kundli village (one of the most

important industrial area) located?
A. Faridabad B. Rewari

C. Panipat D. Sonipat

Q21. Falt M (FH AgeAYVT AT &t F F v) RN F Rrw Ty F Fwa ¥?

A. BerETg B. Yarsr
C. urshua D. gigd

Q22. Haryana lies between the longitudes of

A. 75° 28' to 77° 36' B. 73° 27' to 77° 36'
C. 74° 28' to 77° 36' D. 74° 28' to 78° 36"
Q22. R et & frer R #1

A. 75° 28' & 77° 36' B. 73° 27' & 77° 36'
C. 74° 28' & 77° 36' D. 74° 28' @ 78° 36'

Q23. Which district of Haryana has the lowest forest area?

A. Panipat B. Sirsa

C. Hisar D. Fatehabad
Q23. gRun # Fy o & TaW F7 a7 AT §?

A. Tread B. faar

C. ROR D. HBdgElG

Q24. Which climatic condition affects soil of Gurgaon and Hisar?
A. Wind Erosion B. Water logging
C. Rain D. Salinity

Q24. i W sreary Ry argona ik R # A Ft wenfya Fwdt 82
A. gaT &7 &eld B. STl $RIT

C. auT D. @R

September 14, 2017
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q25. Hathni Kund Barrage is located on river.

A. Ghaggar B. Ganga
C. Ravi D. Yamuna
Q25. gyl 5 W & W Rua B

A. g39R B. aam

C. a D. IHAT

Q26. Which is the most cultivated vegetable in Haryana?
A. Potato B. Onion

C. Tomato D. Cauliflower
Q26. gRITOM F fFT Feall F1 W A 37fAF gt 82
A. 3TTe] B. oIraT

C. eareY D. sy

Q27. Who amongst the following Bollywood personalities was born in Haryana?

A. Shree Devi B. Paresh Rawal
C. Sonu Nigam D. Salman Khan
Q27. gﬁmmﬁsﬂﬁﬁmaﬁgggﬁhmmgmm?

A. v & B. 9¥er uael

C. qie fovare D. HAHATT WTeT

Q28. Pipli Mini Zoo is situated in which district?
A. Sirsa B. Karnal
C. Faridabad D. Kurukshetra

Q28. el A= RfzarER fFw oo & Rua 2

A. R B. ATl
C. WIgETG D. F%eT
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q29. is considered to be the Father of ‘Green Revolution’ in India.
A. C.N.R. Rao B. K.S. Chandrasekharan

C. M.S. Swaminathan D. G. Madhavan Nair

Q29. F 9RT & 'gRT HifQ" FT ST AT ATGT &1

A. H.TA.3R. T B. &.0H. IgAET

C. TH.TH. EIfAdT D. Sit. ATtrE AR

Q30. Pick the odd one out:

Square, Rectangle, Triangle, Trapezium
A. Square B. Rectangle

C. Triangle D. Trapezium
Q30. WA FT TIA F:

T, Imaa, By, gaed

A. Tt B. 3mad

C. ﬁagsr D. §HdT

Q31. Find the analogy.

DA:HE:: LI:?
A. PM B. RS
C.0s D. NS

Q31. AT g&|
DA:HE::LI:?
A. PM B. RS
C. 0Ss D. NS

Q32. What should come at the place of question mark (?) in the following number series?

2,3,5,7,11,?, 17
A. 12 B. 13
C. 14 D. 16
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q32. farafaf@a Tear sf@en & e et (?) F T W F47 gl A1iRT?

2,3,5,7,11,?, 17
A. 12 B. 13
C. 14 D. 16

Q33. In a certain code, if CHENNAI is written as DIFOOBJ. What will be the code for
BANGALORE?

A. NPRENLABE B. DGHLRSTRG
C. CBOHBMPSF D. HILMHDFIM
Q33. v+ AfRad Fiz &, Ife CHENNAI # DIFOOB)J fa@r STar § @ BANGALORE ! F41 far@T Jmean?
A. NPRENLABE B. DGHLRSTRG
C. CBOHBMPSF D. HILMHDFIM

Q34. The length of a rectangle is twice its breadth. If the perimeter is 72 metres, find the
length and breadth of the rectangle.

A. Length = 30 m and breadth = 15m B. Length = 20m and breadth = 10m
C. Length = 40m and breadth = 20m D. Length = 24m and breadth = 12m
Q34. TF A Y 4T 3uHT Aeré HY aWreh 71 I aRfY 72 Aex §, A sraa i Farg 3k Ger$ g
A. da$ = 30 e 3R Al = 15 Aew B. &aT$ = 20 #Hiex 3R @ierg = 10 #Hiex
C. &aTs = 40 #Hiex 3R dlzg = 20 Aex D. oid1g = 24 #eX 3R dleE = 12 Aiex

Q35. Consider two events A and B. What is the probability of happening of events A and B?
A. P(A U B) B. P(A N B)

C. P(A % B) D. P(A ~ B)

Q35. A 3 B, 2 gearat 9T =R #Y1 A 31X B g1t F gea 1 F1Eer #4182

A. P(A U B) B. P(A N B)

C. P(A % B) D. P(A ~ B)

Q36. 10% of 50% of 500 =
A. 15 B. 20
C. 25 D. 30
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q36. 500 & 50% &1 10% =

A. 15 B. 20
C. 25 D. 30

Q37. Nimisha buys 100 bowls for Rs.40 each, and sells them for Rs.50 each. Did she make a
profit or incur a loss and by how much?

A. Profit of Rs.1000 B. Loss of Rs.2000
C. Loss of Rs.2200 D. Profit of Rs.1500

Q37. ffiT 40 T F 100 FeRX Tlheeh ¥ 3R 3% 50 T0F & a7 &t {1 37 Fraar emr a1 g gam?
A. 1000 T9X &7 1T B. 2000 ¥9Y T JehdTel
C. 2200 mww D. 1500 9T &7 o1

Q38. A branch of science that deals with the measurement of light as perceived by human
eye is referred to as

A. Radiometry B. Optometry

C. Photometry D. Spectrometry

Q38. R I v AT HHFHT FoFaetr A HET GaNT &@ AT JH1A Y AT & 7T § 39 FARY
SITAT ST B

A. AR B. 3iTcaAEr

C. ®laHe D. T9FCIAST

Q39. The table is a systematic arrangement of the chemical elements based
on certain factors.

A. Periodic B. Chemical

C. Elemental D. Atomic

Q39. IRo F& ey FRE! W sraRa TwRfas doEt B v sgaftyd sgaedT B

A. 3ad B. AR

C. Aifom D. WA
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q40. The food conducting tissue in a flowering plant is

A. Xylem B. Phloem

C. Parenchyma D. Chloroplasts
Q40. T & N F HierT TgaT aTe Fa ¢

A. STSAH B. Fellua

C. NwrsaAr D. FARICART
Q41. is the synonym of "INFAMOUS".

A. Notorious B. Very famous
C. Reputed D. Admired
Q42. is the antonym of “"FRUITFUL".

A. Unproductive B. Tasteless

C. Endless D. Undesired

Q43. Identify the meaning of the idiom,

“Drive a hard bargain.”
A. Working on a useless deal B. Dealing with a difficult situation

C. The talks are driving the person mad D. Work hard in negotiating a favourable deal
Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

“Mrs. Braganza asked had we taken our food.”
A. Mrs. Braganza asked that had we taken food. B. Mrs. Braganza asked if we had taken our food.

C. Mrs. Braganza asked if we had food. D. Mrs. Braganza asked if you had food.

Q45. Complete the sentence by choosing the correct word from the options.

Renuka is about dancing.
A. good B. passionate
C. liking D. loving
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Q46. i for@ 2reg FT YITHaATEY Ueg TS|

AR
A. STereitaet B. ST o
C. aeT D. HdT

Q47. A o T reg &1 AUl (A 2reg Tarsd |

Eicd

9

A. g B. & H

C. wafay D. 396

Q48. @ fard spgrat &1 3R 3rdf 7|

gea hal

A. U ST B. W g& e
C. geal # I ofarer D. §R HTel ofell
Q49. Y@fa ereg FT agawd Fard |

sgdd

A. ST B. sgaT

C. sgel D. §&=
Qso.mﬁQOmagﬁﬂaaﬁ|

LIELH

A. i3t B. T[isar

C. 71fsar D. =T
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q51. The expenditure Rs. 20,000 incurred on a trial run of a newly purchased machine is

A. Preliminary expenses B. Capital expenditure

C. Revenue expenditure D. Deferred revenue expenditure
Q51. T € A AN F T ecA® TNETr I 3991 §. 20,000 7T § :

A. RS 9T B. Jsilard =@

C. TeiEd &g D. 3MEYTAT Taied g

Q52. Which of the following is not taken into consideration while calculating closing stock?

A. Insurance of warehouse B. Carriage

C. Octroi D. Loading expenses
Q52. 3ifaw Teiw FT IRFad T TAT a7 ¥ FF W ar 7t frar smar

A. JILET3 T ST B. R

C. g D. ©gle I

Q53. Opening stock is 500 units @ Rs.20 each. Purchases during the year are 200 units at
Rs.25 each. Issues- 300 units. Using LIFO Method, find the closing stock.

A. 8750 B. 7000
C. 7750 D. 8000

Q53. YR TeiF 3. 20 TAF I g7 W 500 3HEAT § | a¥ F e $I 5. 25 Tcd® A &7 W 200 FHZATE |
St R — 300 gFTgaT | MY (LIFO) R &1 vt e gv 3ifasr wefar aand |

A. 8750 B. 7000

C. 7750 D. 8000

Q54. shows difference between amount of receipt and right to receive an
amount.

A. Matching Concept B. Going concern Concept

C. Accrual Concept D. Realisation Concept

Q54. TIfta # TR 31X TR wread 7 F HFR & i 1 37w/ gt & |

A. RIS 3aeRoT B. fha 3R dre19ie s¥aaTy 3guron

C. WIgae auron D. agell &I 3auron
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q55. Which concept of Accounting does not allow the proprietor's personal expenses to be
recorded in books of accounts?

A. Materiality B. Conservatism

C. Going concern D. Business entity concept
Q55. A@iwa 1 g sraeroen F Fanh & RS sat 1 dwr aftdt 7 g FIT IqAT Ad 82
A. sitfrerar B. &&TUTaTe

C. fshg 3R FTeTve gaar D. SIGEY Tdcd AR

Q56. All the enterprises should follow the same method of accounting policies for
comparability of accounts due to

A. Conservatism B. Consistency

C. Matching D. Going concern

Q56. & FROT, AWT A JAATcHBAT & AT Tl 3gTAT FY A@iwaT Afet Hir Faver e w1 rgaor
HIAT AT |

A. ER&TUTaTE B. fewer

C. 3TeuTS D. HfshT 3R wl1eTvIe eqad

Q57. Which of the following is revenue expenditure?
A. Demolition & dismantling expenses B. Carriage on machinery purchased

C. Packing charges of goods sold D. QOil painting expenses
Q57. 3H ¥ Fi AT =4, TIET =47 §?

A. Rtag qur @sa gael sag B. @Y 718 Al X HRer
C. 3 31T AT & AT GHRI D. 3sor Ufedr & <

Q58. While preparing B.R.S with balance as per cashbook which of the following will not be
added?

A. Cheque deposited but not cleared B. Cheque issued but not presented
C. Cheque directly deposited in bank by a D. Cheque not deposited.
customer
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q58. T3 T & HTAR AV F Y A.IT.TH. NN I TA7F, Fo1 § By ST a7t e 2

A. STAT foham a1 deh ST Flishd 76T g3 B. ek ST ohaT 3197 W] IReIcl =16 fohaT 91T
C. I &I ATgeh GaRT AY Sk H STAT HIAT AT D. STHT =T8T S1AT 33T deh

Q59. Z Ltd. issued 2,00,000 shares of Rs.200 each at a discount of 10%. Mr. X, to whom 300
shares were allotted, failed to pay the final call of Rs.60 per share and hence all the shares
were forfeited. What amount will be transferred to shares forfeiture account?

A. Rs.18,000 B. Rs.63,000
C. Rs.45,000 D. Rs.54,000
Q59. 'Z' [Afes & 3. 200 YA+ & 2,00,000 R 10% IF W IR Fw | shaAwer 'X', 5= 300 =R amafea

T arT &, 3. 60 WA AT F 3ifereT Fier F1 3T FAE FI 9T, sHfAT T AAT FHIFT FW AT AT | AAT FATEIOT
g # frdeT TRy srafia $r smeefr?

A. %.18,000 B. %.63,000

C. %.45,000 D. ¥.54,000

Q60. Which account will be credited if preference shares are redeemed out of the fresh
issue of Equity share?

A. Capital reserve account B. Capital redemption reserve account

C. Preference share capital account D. Equity share capital account

Q60. Ife JrfarATeT AR FY AT W & T 32 A T37 forar S @ A B @ Y Srar v sean?

A. GoTiITe JRETOT e B. YSiaTel HIeeT JRETOT Wl
C. JTRIATT AT Yol @relr D. | A Ysit Wl

Q61. Which of the following assets is least likely to be subjected to lien?

A. Freehold land B. Plant and machinery
C. Leasehold property D. Motor vehicles
Q61. 34 ¥ fFy RTUfeT & YRS 9T AR @ A TaF F7 FoTEaAT 22

A. qof FfEeT i s B. ¥ Td walerdr

C. vgran gufea D. AYeX atget
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q62. Audit programme is prepared by
A. the auditor B. the client

C. the audit assistants D. the auditor and his audit assistants
Q62. AW THET FEFHH $o1d GaNT IR Frar e @ -

A. oIEr qlieTs B. ImEH

C. oI@r giaT Herash D. o@r udigTeh 3N 3HSF oIEm wieT "grsh

Q63. When should the board of directors appoint first auditor of a company?

A. Within one month of completion of capital B. Within one month of the promotion of the
subscription state of the company company

C. Within one month of the commencement of the D. Within one month of incorporation of the
business of the company company

Q63. fARUF HIT FI HUAT FT Ygell @1 Wt Fa fagFa FTm afge?

A. Fustr dr golt 31fere feafa & waArdeT & v A & B. &Usi & Yddel & Teh Ag & i}
XISy

C. 9T & HRIER & YRH 8t & Tah JAE F T D. HUsi & RIHT & Tk ATg & T

Q64. Which of the following statements is not true?

A. A partnership firm can be appointed as a B. Appointment can be made in the name of the
statutory auditor of limited company firm

C. Majority of the partners should be practicing in  D. All partners should be chartered accountants
India

Q64. 37H T FieT AT FUT T 7IET 87

A. fofaes ot & Tifafte oa@r 9iieTs & &7 J ' B. B & o1\ W gl T ST Fehell §
AR Bal FI Agerd R ST Fever &

C. 31Thier ABIERT 1 AR & AFeq T agT D. T8 ASIGRT F FeleT @R gl AMfgT

Q65. Which of the following is not an inherent limitation of internal control system?
A. Management override B. Collusion among employees

C. Inefficiency of internal auditor D. Abuse of authority
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q65. 3T T T AHTaRF AIT0T Yorrelt &1 v Iafeifga TRAHAT 781 &2
A. Y 37reTTaeT B. daTRAT 7 swuequt gHASar
C. 3TdReh oI ET IT&TehT el 3TTHAT D. YRR T gouTar

Q66. Which of the following statements is not correct?

A. Intern risk and control risk cannot be controlled B. Detection risk is related directly to the
by the management i.e. are uncontrollable effectiveness of the auditor prosecutor

C. Detection risk related inversely to control risk D. Internet risk and control risk are highly
interrelated

Q66. 3R T FieT AT FUT T LT 87

A. aREg STEH 3R WA RAG=F0T ST geiere ganr B. @ NEH or@r qdiats Al i Helear &
[GRIECKERCERIEC IR CRIRICCEICREN RN TegeT ¥ § HEOT §
C. THas @A, 3701 YA F gfaes w7 & D. §cxeie A 3R faaor fE# srcafs siadefa

Q67. Which of the following statements is not true with respect to management
representations obtained as per AAS11?

A. Authenticated copy of relevant minutes of B. It should always be in working
meetings may be regarded as management
representation

C. It may be dated prior to the report date D. It should be addressed to the auditor
Q67. T.U.TH.11 ¥ AR WIcd JatleT & HIATAGA1 & FaU H 791 ¥ T W FYA T AE1 82

A. ST & Hfd FRIGed S ATOIS i 1 gaeret 1 B. 38 g HRIA gl Afee
ATACT FIAT ST Thell &

C. 3qT g R T ARG § ggel hT aIW &1 Hehell D 3 oIl q{iefeh Sl Halfed glell =1igT
3

Q68. If the payment of GST is delayed beyond due date, the rate of interest on the GST
amount payable is:

A. 15% B. 18%
C. 16% D. 17%
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q68. af M.vw.&. (Tg va FaT FX) F1 Tt fagd aliE § 3+ 7o aF RafPaa @ar ¢ ar w7 Aoow.d.
(ag TF AT FI) TR W AT ¢ -

A. 15% B. 18%
C. 16% D. 17%

Q69. Basic pay + Bonus pay + Overtime payment is called

A. Net Pay B. Gross Pay
C. Take Home Pay D. Total Pay
Q69. A A + AW A + FHAAIR dcte Y g B
A. fAge adet B. Hehel Acel
C. ¢ g adeT D. el acte

Q70. Which of the following is a period cost?

@

A. Direct Materials . Indirect materials

O

C. Factory utilities . Administrative expenses

Q70. 3aH ¥ FieT #Y awrg, 3mafs g 82
A. gcgeT grAfT
C. &R $r Ig@fand

. WYeT grAfHAT
. R fas eI

@

O

Q71. Which of the given payroll incentive does not relate to production?

A. Commission B. Bonus

C. Over time payment D. Shift allowance
Q71. A & FieT AT Ygcd dda9E! FcHTE TG & HafOd et 82

A. FaTereT B. ied

C. FHIIIR $aTclr=l D. dTelt #eal

Q72. Under perpetual inventory system the inventory is treated as
A. Income B. Liability
C. Asset D. Expense
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Q72. FRFurs Feqy Jomelt & eed, avqae F AIAT ST & |
A. 3T B. &ar
C. gi@afca D. eI

Q73. Which of the given cost does not become the part of cost unit?
A. Advertising expenses B. Direct Labour Cost

C. Factory Overhead Cost D. Cost of raw materials
Q73. 58 ¥ FieT T AR, AT SHIE FT HITM gT dolct 82
A. faaTger detl sa B. UcT8T A eI

C. SR FRSTT FRTT D. & AT FT dETd

Q74. Sales = Rs.12,00,000 and Mark-up = 20% of cost. What would be the value of Gross
profit?

A. Rs. 7,40,000 B. Rs. 5,80,000
C. Rs. 1,00,000 D. Rs. 2,00,000

Q74. fa%¥T = %.12,00,000 3R ATH-3IT = AT FT 20% | FFHe AT FT Hed el grom?
A.%. 7,40,000 B. %. 5,80,000
C.%.1,00,000 D.®%. 2,00,000

Q75. The Net sales of the business totals Rs. 2,00,000 and the cost of goods sold for the
same period totals Rs. 1,46,000. What is the Gross Margin Ratio?

A. .33 B. .25
C..22 D. .27

Q75. YaH #1 fAae fasha Fe %.2,00,000 ¥ 3K Ft 33 & AT 9 710 A A A0 F €.1,46,000 § |
e Aot 3T FT § 2

A. .33 B. .25

C..22 D. .27
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Q76. Which of the following is correct?

A. Units sold = Opening finished goods unit + B. Units sold = Units produced +Closing finished
Units produced - Closing finished goods unit goods unit - Opening finished goods unit

C. Units sold = Sales - Average Units of finished D. Units sold = Sales + Average Units of finished
goods inventory goods inventory

Q76. 3% ¥ Fid T FYT T 8?
A. 3= 918 SFSAT = YRIAS IR AT 315 + AT B. St a1 soh1sal = AT sasar + 3ifas JuR Arer

gehrsal — faHA AR AT 3 3HIS — URIAS AR AT IS
C. 3= 918 sh1sAT = fahT — AR ATl T FEIGT T D. o<l 971 STl = FAHT + IR ATl T aEIET T
3ad st 3ted swrsar

Q77. In Cost Accounting, Abnormal Loss is charged to

A. Factory Overhead Control Account B. Work in Process Account
C. Income Statement D. Entire Production

Q77. dNTd AWiwT A, HAHT gifer Y TR F AT B

A. SREET F9eay @G0T @rer B. |Te] R @l

C. 3 & faaxoflr D. §FqUT 3cdTee

Q78. In two consecutive periods, sales and profit were Rs. 1,60,000 and Rs. 8,000

respectively in the first period and Rs. 1,80,000 and Rs. 14,000 respectively during the
second period. If there is no change in fixed cost between the two periods, then what would
be profit if sales are Rs. 2,00,000?

A. Rs. 16,000 B. Rs. 18,000
C. Rs. 20,000 D. Rs. 22,000

Q78. a faR afdat #, ggel Iraf®r 7 R ik ey Faer: 3. 1,60,000 3R gud 3afyr & ghoer %. 8,000 &
3 g@dt sraftr & waran: 5. 1,80,000 3 %. 14,000 | AR 51 QAT srafat #F AR aera # F1§ wRad= 7@
e & & amst 4w g, afe s 3. 2,00,000 @2

A.%. 16,000 B. %. 18,000

C. %. 20,000 D.%. 22,000
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Q79. A company produces a single product. The selling price of the product is Rs. 100 per
ton. The variable cost is Rs. 35 per ton, fixed cost for the period is Rs. 20 lakh. Calculate the
Break Even Volume.

A. 30770 B. 30580
C. 32790 D. 33560

Q79. UF FYe TF & 3cUIg I=Telt § | 3eug A FsFw FAa ¥, 100 vfa &1 § | IRaddf awra 5. 35 wfa e §,
39 Y TR aNTT 5. 20 ATF § | ATH-3TATST TATAT HT TRbeleT HY |
A. 30770 B. 30580
C. 32790 D. 33560

Q80. A company has fixed costs of Rs. 6,00,000 per annum. It manufactures a single
product which it sells for Rs. 200 per unit. Its contribution to sales ratio is 40%. Its break-
even in units is

A. 7,500 units B. 8,000 units

C. 3,000 units D. 1,500 units

Q80. T# Fua! i R arrg 9fd a¥ 3. 6,00,000 § | Ig T & 3cUIE 94T § A 98 3. 200 9fy 3F1$ Ig &
| R AT T HHT AIETT 40% ¢ | $H1SAT H 0HT 3F-3aeT g |

A. 7,500 S&Tsar B. 8,000 ghrzar

C. 3,000 s&rsar D. 1,500 313t

Q81. In a company there were 1200 employees on the rolls at the beginning of a year and
1180 at the end, during the year 120 persons left and 96 replacements were made, the rate
of labour turnover according to flux method is

A. 16.36 B. 14.36
C. 15.56 D. 18.15

Q81. UF U # ¥ & YR H N W 1200 FHIRY 3R aufd & 1180 FHIRY &, a¥ & ghrer, 120 F=afat o
Fuelt B3 &Y 3R 96 wfawruriia gu woww R & Iqar s arad M gt |

A. 16.36 B. 14.36

C. 15.56 D. 18.15
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Q82. Which one of the following is not the definition of 'cost'?

A. Cost refers to the expenditure incurred in B. Cost is a measurement, in monetary terms, of

producing a product or in rendering a service. the amount of resources used for the purpose of
production of goods or rendering services.

C. Cost is expressed from the consumer or end D. Cost ascertainment is based on uniform

users view point. principles and techniques.

Q82. aH ¥ HieT AT YT "ARI" Y TRATST AL 82

A. S99 @I § ST Teh 3cUTG o 3cUTeaT & AT ¥aT Yald B, #Aifgew aRveT & amrd Avel & 3cdiee a1 d4a1e verel

I HIWI AT | e & TS TGl T T IR T AT ¢ |
C. 1T &1 3uIerar AT 3ifaA SAear & gfee o D. 9T & [uRoT FAT R@giar 3R deaier |
HiegTd T ST ¥ | IR & |

Q83. A company uses material A for production of Product X. The supplier of Material A
quotes a delivery period of 3 to 4 weeks. If the company uses 600 to 900 units of Material A
per week according to activity levels, the Re-order Level of Material A will be

A. 1,000 units B. 5,400 units
C. 2,400 units D. 2,600 units

Q83. UF FHYell 3c91g-'X" &1 faAtor i & fow wrAaf-" A" &1 FaATT FIA & | WHA-'A" F qfelwar 3 & 4
HeaTg HY &t At T qarar @ | A Fh FRAFAT TR & AR, 9fa weae aEf-"A’ Y 600 § 900

FHISAT T JAWT FIA §, A ALETA-"A’ FT RIS T e |
A. 1,000 S&T3aT B. 5,400 gahrsar
C. 2,400 s&rsat D. 2,600 s&rsar

Q84. Residential status to be determined for

A. previous year B. assessment year
C. accounting year D. financial year
Q84. mardy Rufy & v AuRT A I ¢ |

A. fser a¥ B. fareivor a¥

C. J@ihe a¥ D. faecia a¥
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Q85. Choose the correct answer with reference to the provisions of the Income Tax Act
1961. Family pension received by a widow of a member of the armed forces where the
death of the member has occurred in the course of operational duties in the circumstances
and subject to prescribed conditions is:

A. Exempt up to Rs 300000 B. Exempt up to Rs 350000

C. Totally exempt under section 10(19) D. Totally chargeable to tax

Q85. I HfAATH 1961 F grawral & Hesh # W e} A | WAH o & Ferd H ferar g@rr yred yRar
&am,aﬁmahﬂmmmmﬁﬁgmmaﬁrﬁﬁﬁwmﬁﬁgé:

A. ¥. 300000 T T B B. . 350000 o I e

C. 9RT 10 (19) & d8d qoT € D. #X & fav qofa: yerr ey

Q86. Loss under the head capital gain in a particular assessment year can:

A. Be set off from other head of income in the B. Be carried forward
same assessment year

C. Neither be set off nor carried forward D. Be set off from other heads of income in the
previous year

Q86. fFH fady freRor a¥ 7 qeflara wree g & aga af -
A. 38 feiRor a8 7 3 & qEy N A ST ST EhATE B, M & ST ST Hehell ©

C. & g@X MY F STaT ST Fehell §, o N o SIRAT ST Fhell D, et a¥ 317 & q@¥ MY # s7a S Fhell &
3

Q87. Which among the following is covered under Section 80 CCD of the Income Tax Act
19612

A. House Rent Allowance B. Pension scheme

C. Medical Insurance D. Child Insurance Scheme
Q87. 3aH ¥ fF¥ a3yt wRATT 1961 i arr 80 WA . F Tga anfAe fvar sTar 82
A. FHIF THAT Hedr B. deret Arstelt

C. Rfecar drar D. dTel AT ASal

Q88. Which among the following is not considered as an economic activity and hence not
included in the calculations of our national income?

A. Services of a housemaid B. Money given in charity

C. Money won through lottery D. Fees paid to a private tuition teacher
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Q88. z=i# ¥ ¥ v e F A AT Fra § 30 sufav, @ TdT 37 & RFas & afde 7 BFar smar
A. B At T fart B. ERrd # & 1§ e
C. dlicll # Sl 718 ey D. fo¥sit ggeret fRveTeh hr fam ram ek

Q89. A zero rate of inflation is obtained necessarily in a year where annual rate of inflation

A. In every week of the year is zero B. Is falling in every week of the year
C. Is both falling and rising in a year D. Is constant in every week of the year
Q89. 3¥ ¥ F HFEHI HY Y7 T ITIF T & YIee Y SATeH ¢ ST81 Harehifar i arfia a3

A. T & TAF FATE T A B. a¥ ¥ Wi WeaTE R T @

C. a8 # PR 3R 9g = W ar D. a¥ & Jd& AedTg & &

Q90. Which among the following is wrongly matched?

A. Tax on sale or purchase of goods in the course B. Tax on professions, trade, callings and
of interstate trade - Union list employment - State list

C. Central taxes on Income and Union Excise D. Taxes on railway freights and fares - Union list
Duties - Duties collected by Union but
appropriated by the states

Q90. 3H ¥ fFuFT AT T FhaT T™AT §?

A. TSI AR & GRTeT ATl & fashd AT 56T WA - B. 9, AR, 3Teiident 3R e W - T T
i

C. 3 T Heg T F AT Heald 3c1G Yoh - T G@NT D Yed & HATereTs 3R Bhw W - Fe

THAT e Tl @RT AT o

Q91. Public debt of India has two parts: Internal debt and External debt. Which among the
following is not included under internal debt?

A. Treasury Bills B. Ways and Means Advances

C. Market Borrowings D. State Provident Funds

Q91. HRA & AIHSATAS FUT & & AT § - HdARS IUR 3R aed 3uR | Arafaf@a & F Fd sraks sur &
nfArer AT AT SITar?

A. IV 5T B. 3rafurr 3o

C. 99X & 38R D. = Afosy AT
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Q92. One of the reasons for India's occupational structure remaining more or less the same

over the years has been that

A. Investment pattern has been directed towards
capital intensive industries.

C. Ceiling on land holdings have enabled more
people to own land and hence their preference to
stay with agriculture.

B. Productivity in agriculture has been high
enough to induce people to stay with agriculture.

D. People are largely unaware of the significance
of transition from agriculture to industry for
economic development.

Q92. auf & gRIeT IR I ATTATRAF FITAT & FAIAY T AW T @A T Teh FRT Ig ¢ F

A. faer &r des Gofere aTget 3ehet & 3T &R @t

gl

C. & &I Wl I Scdd AT o 3T olla0 l FarHT
Sl H FeTH &1 &, SHAIT Y &7 7 o4 WA 1 I
grafAearea & |

B. ¥ T ScuTeehdl Sciit 3iereh T & T oler Hi¥ & 3
@ & gged 81 ¢ |

D. 3iferenier oler 3iYeh faehrd o folv Sy & et &
STt &7 FAgedT T 3ATHA 6 |

Q93. Inequalities of income are more marked in under developed countries in

A. Service sector

C. Agriculture sector

Q93. 3 F FWATAAIY e9-fAhfAaT ot &
A. Far &7
C. ¥ &

B. Manufacturing sector

D. Entrepreneurship sector

# aftw g I ¥ |
B. fafa#ToT &1
D. 3cIHdT & F

Q94. To know whether the rich are getting richer and the poor getting poorer, it is

necessary to compare

A. The availability of food grains among two sets
of people, one rich and the other poor, over
different periods of time

C. The wholesale price index over different
periods of time for different regions

Q94. IE I F forw 3R 3rf¥w 3R 71 @ ¥ 3k e 3w i,

A. 3R 3R IS, &7 & TR & Al & &g faffee
37T # 37eTeT ST 3cletrdr

C. Rffea a3t & forw gy 1 Affe afaar J 9%
HIHT Fhih
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B. The distribution of income of an identical set of
income recipients in different periods of time

D. The distribution of income of different sets of
income recipients at a point of time

Y AT FIAT HTTRIAF ¢ |

B. T fI ¥ 319t & ves I 3 ureg
arell T 3T T FidaRor

D. fohell weh HAY fieg R AT e v 3mr gred
e aTcll T 37T T RO

Page 25 of 27



.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Evening Session

Q95. Which one of the following systems best characterizes the Bretton Woods system of
exchange rates?

A. Fixed exchange rates B. Adjustably fixed exchange rates
C. Pegged exchange rates D. Adjustably pegged exchange rates
Q95. s71H ¥ i Ht worrelt Rfeerr X #r veer 3w womeh it wafeaw ST F RAwar FaET E2

A. feR fafama gt B. wARSHT R ffasa &t

C. uvs RAfaag &% D. GATASEAY 998 fAfa# T g

Q96. Which of the following statements are correct regarding Okun's law?

A. It states that the work expands according to B. It is a law, helped to rebuild the economy
the time available in which it is done. ravaged in the Second World War.

C. It is a law, proposes that aggregate supply D. It describes the relationship between
creates its own aggregate demand. unemployment and growth rate.

Q96. 3iFeT F IR F FaY H g & FleT W FYA W 62
A. IE 9dIc & foh 1 38 6T ST & ToIT 3ueletl /T B. Ig ¢ 19 § o afdciy faea gg & aise gl ger

& 3TER AEARA g1 ¢ | 37-SIGEAT T SISRT STl H HEE 7 |
C. Ig ¢ T9# ¢ Sl Goirel & & Foof 3MYft 39l @ D. Ig ST 3R 3o &X & e & Haier &t sarear
i A AFT AT E | AR |

Q97. Only the significant events, which affect the business, must be recorded as per the
principle of -

A. Materiality B. Reliability

C. Accountability D. Cost effectiveness

Q97. Fae HEcaqUl HeAT! AT FRIGR FI YHIRAT FIl §, gof AT FA=H TRT, I7 a1 30 Rgia W ameRa & -
A. sitfererar B. fara@=iradr

C. Jardcgr D. |9t gaTaeiierar
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Q98. Which of the following statements best describes as to why an independent financial
audit is conducted?

A. Audit detects the frauds committed by the top  B. Audit suggests an improvement in the systems

management of the company. of internal check and internal control.

C. Audit adds to the credibility of the financial D. Audit guarantees that no error or frauds

statements. remain in the financial statements.

Q98. tF Faad e J@T gt F41 FIE AT §, ST ATEAT a7 F Fi FT FUT Falead 91 F FIaT1 §2

A. oI@T 98T 7 FHUell & Fafed Yy gaR’T & 75 B. i@ qaT HTaRe Sira AR 3dRe fz=or $r

HIEIeSAT T g Teld g1 vonfort & GUR T HgeaT HT FoAa il &1

C. o@r TeT [T [Jaron &t AaE=iadr & Jerdi &1 D. oI@r 98T SHehT RS &af & & ey [awon 15
TSIt AT LTETEIET 18T 9 gl

Q99. Standard time is 60 hours and guaranteed time rate is 30 paise per hour, what is the
amount of wages if job is completed in 48 hours as per the Rowan plan?

A. Rs 24.00 B. Rs 26.80
C.Rs 17.28 D. Rs 20.40

Q99. AEF FAF 60 TUe AR IREYFT F#7 T 30 A gfer woe ¥, worgdt Fr ufr 741 ghft Il w7 1 Ay
AT F TR 48 "ot # g fmar Srar 82

A. %.24.00 B. %. 26.80

C.%.17.28 D. %.20.40

Q100. Which of the following is not basic assumption of Economics?

A. Economic Rationality B. Capitalist Economy
C. Political Economy D. Ceteris Paribus
Q100. 3H ¥ Fa AT AFew srdemes Y F{eT ITUROT AE 2

A. 3w aRAwar B. Gofardr rd-eaaean
C. Tereifaeh 37-caaear D. ¥eR¥ qRew
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